Advanced Placement Calculus Name

Copy original problem. Per Date

Convince me that you understand the concept!
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Quarter #1 Exam#1
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Given f(X) = \q“xz+—x_6

. Determine the domain of f(x) . Justify. (10 pts)
Given f(x) = 3x" + 2x°. Determine the equation of the tangent lineto f(x) at (-1, 1). (10 pts)

Solve [0 x €0 . Graph solution set on awell labeled number line. Be especially sure that the reasons
for your steps are very clear. (10 ptsea)
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Using the definition of the derivative, determine f'(l) where f(x) = E\)} 11 I: X <i (10 pts)
x -1 ifx=2

Given f(x) = [2x + 3| - |4 - x|. (15 pts tot)
a) Rewrite f(x) asa piece-wise function.
b) Sketch the graph of f(x).

C) Determine f’(x)

Find the following limits: (5 ptseq)
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A ball wasfloating in alake when the lake froze. The ball was removed (without
needing to break the ice), leaving a hole 24 inches across at the top and 8 inches deep
at the deepest point of the indentation. What was the radius of the ball?



